BA 353: Decision Analysis

A) A grocery store manager must decide how many crates of bananas to purchase for the upcoming week.  Each crate holds 250 pounds of bananas and costs $75.  The bananas sell for $0.49 per pound and by the end of the week any unsold bananas must be thrown away.  Over the last eight weeks, demand has been 200 pounds once, 400 pounds twice, 600 pounds three times, and 800 pounds twice.  According to expected value, should the manager purchase one, two or three crates of bananas?  What is the best decision according to minimax regret?

B) A concert promoter is planning a concert here in Durango.  There are three venues available.  Venue A holds up to 1000 people and costs $2000.  Venue B holds up to 2500 people and costs $4000.  Venue C holds up to 5000 people and costs $7500.  After subtracting out administrative costs, each concert ticket sold will earn $8.  The promoter has held similar concerts in ten other cities.  If five of those cities, demand for tickets was approximately 500.  In three of those cities demand was approximately 2000, and in the other two cities demand was approximately 4000.  According to expected value, at which venue should the concert be held?  Calculate and interpret the EVPI for this problem.  
Homework 2

Due TBA.
· Read QM A (pages 685-699 of the text).

· Do problems A.2 (part d) only), A.3, A.6, A.10, A.12 and A.14 from pages 699-703 of the text.

· And do the additional problems listed below:
1) (Taken from a previous exam.)  The owner of a seafood store must decide how many pounds of oysters to purchase.  He can buy 120 pounds for $75 or 180 pounds for $100.  He then sells the oysters for $1.50 per pound.  Over the past 10 weeks, demand for oysters has been 50 pounds once, 100 pounds twice, 150 pounds six times, and 200 pounds once.  How many pounds of oysters should he purchase in order to maximize his expected profit?

2) (Taken from a previous exam.)  The owner of a rafting company must decide how many rafts to make available for an upcoming trip on the Grand Canyon.  Before the trip, the major expense is a $6000 non-refundable permit for each raft that she plans to take down the river.  Each raft holds up to eight customers, and every customer that signs up for the trip will pay $1600 to the rafting company.  In the past eight years, demand for the trip has been 10 customers twice, 15 customers five times, and 20 customers once.  According to expected value, should the owner plan on 1, 2 or 3 rafts?

